Angles - Short Cut Sheet
Linear Pairs Supplementary
Vertical Angles Congruent
Alternate Interior Congruent
Alternate Exterior Congruent
Corresponding Congruent
Consecutive Interior Supplementary

* If Congruent: Set equal to each other and solve for x.

* If Supplementary: Add together and set equal to 180.
Then solve for x.
* HINT: - If both angles are acute or both angles are
obtuse, they are equal.
- If one angle is big and one is little, they are
not equal which means they are supplementary.
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Using Properties of Parallel Lines cut by a Transversal:
You Practice:
Use properties of parallel lines
to find the angle measures given
m £ 6 = 67°. State your reasoning.
1. mz7  \|3°
22ms8 (p7°
3.m«Z9 [ R°
4. mZL10 (o77°
5. mz11 [13°
6. mz12 (G
<
7.mz13 113
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Using Properties of Parallel Lines cut by a Transversal:
Use properties of parallel lines to find the value of x.
Also, state your reasoning You Practice:
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Using Properties of Parallel Lines cut by a Transversal:
(-]

Use properties of parallel lines < =5 Hgo{(z
to find the angle measures given \ ug° \‘{8

m £ 1 =32° State your reasoning. " 22 22’

a2 \A‘ﬂ

1. mZ£L2 22°

2.m«3 3R°

3.mz4a /HTT t%f;—,,
4. mzs 04 W
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Using Properties of Parallel Lines cut by a Transversal:
Use properties of parallel lines to find the value of x.
Also, state your reasoning.

(2x + 4)°

X:. —g-;)_g_—' 2
x<E?

X = (0_3 because xX= ]l because X = @3 because
ol ext L5 CO"‘”‘SW alt ;M- &
are = L's are = are =
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Using Properties of Parallel Lines cut by a Transversal:
Use properties of parallel lines to find the value of x.
Also, state your reasoning.

537

(5x + 2)°

MX+7 + 10”2130 H¥-32+[35=180

- - |2AX =D
10Y-2.= 9% ax+7:z1IS = = = =130
4+2 4+ - =T 12 |2 [LAV4 +—“L\% jﬁg AYX +|32- % -132
e, ‘ 5 N 7 % ;
x= 1O because X = I:L because X = 5 because X = =3 bec;(us = lgkbecause X = because
alt-int. s alk 62“4- L's correq.oon g _Same side ext  (4%3)%s supp +o
are = Qe =. LS are = 4's are SvpP he Coﬂ'?.fﬁbnd'll\,.l.
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